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Math 10-C Graphing Relations Name: _YLEY
Domain & Range Notation

For each problem, draw a graph of the situation using the indicated domain. Then state
the range using the same notation used for the domain.

1. You are selling lemonade at a price of $0.25 / 250mL. Draw a graph of your sales
revenue, s, based on the volume of lemonade sold, v, in mL.

Case #1 Case #2
Domain: {v|0<v<2000,ve R} Domain: {v|v>0,ve R}
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2. Calgary is about 300km from your house. You are driving home from Calgary at a

speed of 100 km/h. Draw a graph of your distance from home, d, in km based on the
time spent travelling, t, in hours.

First Part of Trip Second Part of Trip
Domain: [0,1.5) Domain: [1.5,3]
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3. y=2x

Case #1 Case #2
Domain: {x|xe R} Domain: [-2,5)
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Case #3 Case #4
Domain: [0,e) Domain: {-3,—2,—1, 0, 1. 2, 3]
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